Date le seguenti funzioni reali f e g, definite nell’insieme che abbiamo denominato dominio naturale, calcolare

f(xz) =log (x +senx) , g(x)= é

flx) =2z —cosz, g(z)=c¢€"

f(x)=x—log(l—z), g(x)=cosz

flx) =tg(2z +1), g(x)=e"

f(z) =log (1 +senz), g(x)=Ilogx
f(@) = 1z 9(z) =logz

fx) =224z, glz)=e"t!

f(z) =z +senz, g(z)=log(z +2)
flx)=2+3, g(z)=Ilog(x+1)
f(x) =3z +cosz, g(z)=Iloglz+1)
f(x) =4e* +2, g(z) = cos(z + 1)
f(z) =2z +4logz, glz)=a+1
f(x)=z+sen(z+1), g(z)=a2a?

flr) =2 +tglx+1), gr)=x+1

f(x) = cos (10;0) , glx)=z+5

f@)=sen(z®+z+1), gx)=z+1

fl@)=(1+1logz)’, g(x)=cosaz

(fog)(x)+(gef)(z)

Risposte:

1 1 1
1 - - - -
°8 <:z: sen (w)) * log(x + senx)

61‘ — COS (61’) + GI—COSCE
cosx + cos(x — log(1 — z)) — log(1 — cosx)
tg (2ex+1 + 1) + etg(2x+1)+1

log?(cos(5x)) + cos (5 log? )

=] =

sen(z + 1) +

sen( )+1

T

log(log(1 + senz)) + log(1 + sen(log x))

1
log (1 + senx) + 1 + sen(log z)
o1 (€2x2 1 2emtl 4 1)
log(z + 2) + log(z + senx + 2) + sen(log(z + 2))
log(x 4+ 1) + log(z +4) + 3
3log(z + 1) + cos(log(z + 1)) 4 log(3z + cosx + 1)
cos (4e® + 3) 4 decs@H) 1 9
dx +4logx +4log(x + 1)+ 3
22° + sen (2 + 1) + sen®(x + 1) + 2zsen(z + 1)

2 (2* + 2 +1) +tg(z + 1) + tg(z + 2)

1 1
— —_— 5
cos (logw) + cos (log(:v—l— 5)) +

sen(x2+:c—|—1)—|—sen(x2—|—33:+3)+1

(14 log(cosz))? + cos ((1 + log z)?)



